C:# |dentify Linear Functions (Table) Name:

Determineif the table shown representsalinear function (yes) or not (no). Answers
1) Y:X/5 2) Y:,\/x_ +4 3) Y =-Xx2
X[ v XY t
X| Y
o| 4 2| 4
-1(-0.200 5 2
2 | 5414 1]- '
-2|-0.400
= 3 | 5732 7]-14
1 6 8 |-16 3
-7|-1.400
ET 1 8 | 6.828 9]-18
4,
5.
4) [Y=3xX-(X+8) 5 |Y=2+X 6) |y=n/Xa
X | Y X[y x| v °
-1 | -10 715 4 | 0.000
2 -12 2| 4 5 | 1.000 !
4 -16 3|5 7 11732
5 | 18 6|8 8 | 2,000 >
6 -20 8 |10 9 (2236
9.
10.
7) 8) |y=-X-8 9 [y=x?
Y= X2%9 M 11
X|Y XY '
Ll 1] -7 5|25
6 | 5.196 3T s '1 1 1.
-8 | 7.416 =T T2
-9 | 8.485 ST 1 3T o
4 | 2.646 s 16 s Tea
6 | 5196
10) = 11) Y:2X+9 12) Y_3+X/
- 9
A/X+8 X| Y —r—
X| Y -219.250 10| Lego
-3 2.236 89004 _4 2.556
10 | 4.242 3| 17 '1 3'111
1 | 3.000 5| 41 :
2 | 3.162 81| 265 g gggg
6 | 3.741 :

2 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0
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C:# Identify Linear Functions (Table) Name: Answer Key

Determineif the table shown representsalinear function (yes) or not (no). Answers
D Y:X/5 2 Iy=n/X +4 3 |Y=xx2 yes
X| ¥ 2| 4
“1[-0.200 0] 4 T 5 no
2 | 5.414 -
-2-0.400
I 3| 5.732 7 |-14
21 6 8 |-16 3. PASS
-7|-1.400
=1 1 8 | 6.828 9 |-18 Ves
4.
5. YES
4) [y=3xX-(X+8) o) | Y=2+X 6) |y=n/Xa .
X | Y X|Y <1 Y °.
1 | -10 7|5 4 | 0.000 no
2 | 12 2|4 5 [ 1.000 b
4 | -16 3|5 71732
5 | -18 6|8 8 | 2.000 8 A
6 | -20 8 |10 9| 2236
9, no
10. no
7) 8) |Y=-X-8 9 |y=x>
Y= X2-9 NS 11 no
X |y x|y '
LY 1] -7 5(25
-6 | 5.196 15 ot " yes
-8 | 7.416 = T
-9 | 8.485 o =T
4 | 2.646 ART e
6 | 5.19
10) = 11) Y=2"+9 12) Y_3+X/
- 9
A/X+8 X| Y —r—
X| Y -2(9.250 10| Lego
-3 2.236 819004 '4 2.556
10 | 4.242 3] 17 _1 3'111
1 | 3.000 5| 41 :
2 3162 s 265 ‘5‘ 2;‘2:
6 | 3.741 :

2 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0
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